Subject: Active crossover vs passive crossover
Posted by Rudi on Fri, 15 Mar 2002 18:56:53 GMT
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up to about 500w rms using a passive crossover whether it is,2 way,
3way,bandpass,highpass,lowpass,1st order,2nd order,3 rd order,4th order it is cheaper for up to
500w rms.But when it is over 500w ,use an active crossover which is cheaper than the passive
crossover at 500w and above. Also the active crossover is better than the passive crossover,cos
you can adjust the roll off point,and limit the frequencies.So for example a 50hz-5 khz driver can
be limited to 50hz,so 50hz and below doesn't damage the driver,also at this point you can
crossover to a sub bass bin - 20hz or so
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